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Short answer questions/problems

Note:  Short answer questions/problems require a sentence or two at most.  In some cases, a single word is sufficient.

1.  What is the basic difference between a stock dividend and a cash dividend?  Paid in stock rather than cash.
2.  Why shouldn’t a firm’s bondholders be indifferent to whether or not it pays a dividend to its stockholders?  A dividend reduces the firm’s assets and thus make bondholders less likely to get paid in full.
3.  Assume two firms are priced to offer the same before-tax return.  One of these firm’s pays high dividends while the other pays low dividends.  Which will offer the highest after-tax return to a taxable investor?  Low dividend.
4.  List two alternatives to a dividend for surplus cash that management should consider if they want to maximize the wealth of their stockholders.  Two of:  1)  invest in negative NPV projects, 2) repurchase shares, 3) acquire another firm, 4) purchase financial securities.
5.  What dividend policy should the typical firm pursue if the clientele theory of dividends is correct?  Doesn’t matter.
6.  In general, do the presence of personal income taxes lead to a greater total amount of dividends being paid, a lower total amount of dividends being paid, or are dividends unaffected by personal income taxes?  Lower.
7.  Even if dividend income is generally considered taxable income, how might it be possible to receive dividends and for these dividends to not increase your taxable income?  Hold stock in a tax deferred account (IRA, 401k, etc).
8.  According to the agency theory of dividends, how does the presence of conflicts between stockholders and managers affect the optimal amount of dividends being paid?  Increase.
9.  Assume the signaling theory of dividends is correct.  Would you expect the reaction at the announcement of an increased dividend to be greater if the firm stated that the increase was a part of its regular dividend or if the increase was a special dividend?  Regular.
10.  There are four important dates in the dividend process.  What is the last one in the sequence?  Payment.
Problems/Essays

1.  No Keyuh Inc. is considering building a new factory to produce voice-activated cell phones.  The factory is expected to cost $30 million to build:  $20 million of this cost will be paid today and $10 million of the cost will be paid 6 months from today when the factory is finished.  Ten months from today, the new factory will produce a net cash inflow of $380,000.  After this initial cash flow, net cash flows are expected to continue monthly and are expected to grow by 1% per month through 8 years from today when No Keyuh expects to shut the factory down.  Sales of the new voice-activated cell phones are considered to be riskier than No Keyuh’s existing product line.  This higher risk shows up in both standard deviation of returns and in beta.  The standard deviation of returns on the factory is expected to be 43% compared to 29% for the firm as a whole.  Similarly, the beta of the factory is 1.5 compared to 0.9 for the firm as a whole.  In attempting to figure out whether or not the build the new factory, No Keyuh has collected some benchmark return information as follows:  the return on T-bills is 1.6%, the yield to maturity on No Keyuh bonds is 6.5%,  and the expected return on the stock market as a whole is 10.2%.  What is the impact of undertaking this project on No Keyuh’s value?
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1.  
r = 1.6 + 1.5(10.2 - 1.6) = 14.5
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Costs:  
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Inflows:  
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NPV = 27,902,343.27 – 29,345,386.27 = -1,443,013.00

2.  Assume that when you were born, your parents purchased shares of IBM and General Motors.  Through the years, they have allowed you to buy or sell shares of either firm as you wanted.  However, all money received from selling one of the shares had to be invested in the other.  At present, you estimate that the expected return on General Motors will exceed that of IBM but you also estimate that the stock has more risk (as measured by either standard deviation or beta).  Thus, you have arranged your portfolio so that 90% of your money is invested in General Motors.  As a graduation, your parents plan to give you an amount equal to the total value of your portfolio on the day you graduate.  They will also let you expand your portfolio to include Texas Utilities if you wish to do so.  You estimate that Texas Utilities will have less risk and a lower expected rate of return than either IBM or GM.  They have also told you that you can invest in Treasuries and borrow from them at the Treasury rate if you chose to do so.  

a.  Graph the possible portfolios you can form now and also indicate your current portfolio.

b.  Assume you want to achieve the same level of risk after graduation that you had before graduation.  On the same graph you used to answer part a, demonstrate that you are better off with the new constraints than you were under the old ones.  Be sure to clearly label which part of the graph answers part “a” and which part answers part “b”.  

a.  GM is above and to the right of IBM.  Possible portfolios is a line that curves to left of the two points.
b.  TXU is below and to left of IBM.  Possible portfolios is area that curves to left of the three points.  Line extends from risk-free rate to point of tangency with the set of possible portfolios.  The portfolio you achieve is directly above your original portfolio (in part a) on the line.  You are better off by the amount your expected return increases.  

3.  Assume that Goldman’s Socks Inc. has just invented a new security that if issued to managers eliminates all conflicts of interest between stockholders and managers.  How will the decisions made by the typical firm change as a result of issuing these securities?

1)  Management will reduce the amount of investing it does that reduces company specific risk

=> were overinvesting in this type of project since not well diversified.

2)  Management will no longer overexpand the firm in an effort to increase pay, perks, power, and prestige

3)  Firms will no longer give options, stock, or bonuses to management

=> these were used to align stockholder-manager interests

4)  Firms will reduce the amount of debt in the firm’s capital structure

=> the debt helped resolve stockholder-manager conflict by:

1]  taking surplus cash out of management’s hands so wouldn’t waste it

2]  allows managers to own a larger percentage of the firm

3]  Keeps management’s feet to the fire

=> none of these are necessary now

5)  Will pay less dividends

=> paid in past in part to resolve stockholder-manager conflict by increasing the chance that issuing securities in the future

=> threat of monitoring when issue keeps management honest.  
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4.  Assume that George Bushson is able to get Congress to cut corporate income taxes.  How will the actions and decisions that firms make differ once the cut becomes effective?
1)  Reduce amount of debt in capital structure
=> less tax savings from having debt

Note:  equilibrium TB will be lower => this reduces amount of debt reduction for each firm.

Note:  can also answer this part of the question graphically.

2)  More capital spending likely

=> if cut taxes, after-tax cash flows that projects generate go up.

=> NPV of typical project higher

3)  Impact on dividends is unclear

=> firm will generate more cash flow but also has more positive NPV projects and higher after-tax return on investments.

=> may increase or decrease dividends
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